0002227632777999

&0 EBEEXE 6—e—>

2016 4 BT 55 3 [

3 z%r+%=ﬁwﬁf:ﬁxau, Aﬁ=t”+t17 (n BB L2 %, ROMNZEZR X,

(1) Ao, A, Ay D% RO I\,
2)nz20& %, Apr1 % Ap, Ay ERVWTEL L X,
(3) n>3DL %, Apig % Apy £FVTELE XN,

(4) Ay D&Y D BH%E T RNTRDE X,
C @) REEBH LT, LY,

(1) Az = t'z'!"f!; ﬁ_l
=(t+ ) -2 Ask = = Asgg-a = Aag-g = = (-1)7 Ag
= Ly
=0 A‘i-&ﬂ = "A4-ﬁ-3 = A+ﬁ-7 = e = ("I)EA'I

As = T2+ %f'i Adkt2 = ~Asp-2 = Ask-4= - = (—1)5;\2
= (t+g)-3(te ) Adhes= ~Adker = Aggos = = (~1)R A3
= 202-302 L Anoey i3 iEN.

o . *7,0,%2

As= T+ 35 :
= (1P 55)%-2
ke

PAELY, A2=0, Az=-42 , A4=-2

174

| |
o e i = (e B )l i) o

o Aprt =J_2'An"An—t (nz2) .

(N (2 4Y,
Ansz = 42 Ant1 —An
= N2 (WZAn=An-1) ~An
= An —dZAn-1
JZ An-t = An-2-42An-1

B (HEE)

u

1

’l




